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(6) Economic Loss = GDP Per Capita - GDP Per Capita

As Usual Scenario Child Marriage Scenario
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(7) Economic Gain = GDP Per Capita - GDP Per Capita

As Usual Scenario Child Marriage Scenario
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(8) (GDPU. = GDP,_ \ * (1 + Annual GDP Growth[J)
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(©)] GDP Per Capita, = GDP, . / Projected Total Population,,
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( GDP Total — GDP Total

Non-Child Marriage Scenario Child Marriage Scenario )

—/ Time Interval )
GDP Total

As Usual Scenario
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Economic Loss as Given in Equation (6) for a Country

(10) =

Number of Households in a Country
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1
Number of Households in a Country

dasdiall Loeall dyley)l le 3yl o5 o bwsza ] Tsbiwl douall dile )l IS5 duddall 3ISInall zigas sadss

3 ilallg eirlab g oty I sludll e a3yl dpomall dleyll BJISS b @lgyall bagiuds zisadl b
8353e syig . Jakallg AWM dalisall demall dsle)l JSliay dlagyall 83slazall ybolsall jolul Lle @dlab jas o3
sl 130 Blg 5 Lio sl boyse LaSs cala 5 8850l 6 dolucdl olasll deongin oo dlaie 405

22



